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Cost(t) = E(t) P(t)

Disomfort(t) = {
(T𝐶(t) – T𝐷(t))2, Tc(t) < TD(t)

0, Tc(t) ≥ TD(t)

T𝐶(t) T𝐷(t)



 

 

PAR =
Max E(t) ∗ N

∑ E(t)N
t=0



 

 

 

 



 

 

 

℉ [31]

 

 

℉ ℉

℉ ℉

℉

℉



 

 

℉

 

℉

℉



 

 

℉ ℉ 

℉ ℉ 



 

 

 

Cost = ∑ E(t) P(t)𝑘+𝐾−1
𝑡=𝑘

Discomfort = ∑ Discomfort(t)𝑘+𝐾
𝑡=𝑘+1

minimize        α ∑ E(t) P(t)𝑘+𝐾−1
𝑡=𝑘 + 𝛽 ∑ Discomfort(t)𝑘+𝐾

𝑡=𝑘+1

α 𝛽
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minimize        ∑ a(t) E(t) P(t)𝑘+𝐾−1
𝑡=𝑘 + ∑ (T𝐶(t) – T𝐷(t))2𝑘+𝐾

𝑡=𝑘+1



 

 

℉

℉ ℉ 400(0.41)(0.1) + (60 − 69)2 = 116.4

400(0.41 + 0.43)(0.1) + (61 − 69)2 = 114.6

400(0.41 + 0.43 + 0.45)(0.1) + (62 − 69)2 = 115.6

400(0.41 + 0.43 + 0.45 + 0.47)(0.1) + (63 − 69)2 = 119.4
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∑ (T𝐶(t) –  69.8)2𝑘+𝐾
𝑡=𝑘+1
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